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ScholarS' View: '
L. ?{:Z;‘:e:;eglgzoggtl moqcl is designed to compute the intrinsic value of a shars el stew
, ate di umptions as to the expected growth pattern of future dividends and 0
ap.p rop nate. 1SCount rate to employ. - Van Horne & Wachowicz
2. .Dlvlden.d discount modgl is a model that states that the intrinsic value of a stock 1= =gl
to l}?e;dlsco.unt‘ed value of all future dividends. - C, P, Jones
pccording to the q“”de“d discount model, conceptually a very sound and appealing model. e
qalue of the stock is equal to the present value of dividends expected from its ownership phus (e
resent value of the market price expected when the stock is sold. For applying the mesdel. ane
should make Fh_e following assumptions: ”
(a) Dividends are paid annually, and
(b) Thc first dividend is received one year after the stock is bought.
Mainly common stock is valugd by dividend discount model in two Ways:
(i) Single Period Model
(i) - Multi-Period Model - ol
(a) Constant Growth Model
(b) Zero-Growth Model.

(1) Single Period Model: |

Let us begin with a single period analysis. Suppose an investor likes to buy a common stock and
to hold it for one year after which he ‘will sell it. In this case, his income at the year end will be
the amount of dividend paid him plus the price that he will be able to get by selling it. Se. the

present value of the common stock will be: ,
‘ Ve = Common Stock Value

F D, +MV | D, =Expected Dividend
la- Ve ada =l A 1 xpected Divide
ol 08 Ve (1+K)" ' MV = Market Value
' K =Discount Rate

Example- 02

Mr. Maruf has bought common stock of RAK Real Estate Ltd. The expected dividend at the end
of the year is Tk. 28 and market price is Tk. 250. If the expected return of the stock is 12%, what

is the value of the stock?

N — D, +MY, ' Where:
@ V‘? =mi" : ' D, = Expected Dividend = 23
. MV = Market Value =250
= 28+250 _ 278 * K = Discount Rate  =0.12
(1+.12) 1.12 4t Ve = Common Stock Value =7

=248 Tk. Answer: Value of the Common Stock = 248 Tk,

(2) Multi-Period Model: |
In multi-period model, the same techniques of valuation for single period model are used We
assume here that the investors do not sell their stock and the value of stock will be the present
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value of the expected future dividends. Having learnt the basics of comman Stock y,
single-period model, we now discuss the more realistic and also the more compley,
period valuation.” Since common stock has no maturity period, it may be clpﬂu- ™ iy

dividend steam of infinite duration. The value of the common stock may be pug 5. "

lf‘

D D DN +MV vc —Comlrrn Mo
rmula-0 Ve= 1 + 2 + + D a = Ex ek
1 L K)? 14K N med[)“ r
(1+K)' (1K) (1+K) MV = nvx.-m,,warr h
K :DIS(:()umpa,e
Example- 0

Mrs. Roxana has purchased a common stock from Alif and Company. The ex pected
is Tk. 370 and dividends from the stock are T. 25, 18, 27 & 36 per year respectiveiy, |,
rate is 15%, what is the value of the common stock? o

| D D D +MV, | Where:
' vE=(1+;<C)'+ 1 ;<’+ 1+K)* o’ = Dividends = ?5 132’}
__25 18 27 36+370 MV = Market Value = =3
A+.15)"  (1+.15)7  (1+.15)°  (1+.15)% | Ve =Valueof Common sy,

25 18 27 406

= +- + +

(1.15)" (1.15)*  (1.15)* © (1.15)*

25 18 27 . 406

=—+ + +

LI5S 13225 15208 1.749
=21.74 + 13.61 + 17.75 + 232.13
=285 Tk.

Answer: Value of the Common Stock = 285 Tk.

(3) Constant Growth Modei:

" The most widely cited dividend valuation method is the constant growth model, assun
dividends will grow at a constant rate, but a rate that is less than the required rate. fi
dividends of a company could jump all over the place and are expected to grow at a consu™
The constant growth model is commonly called Gordon model. The value of a commo &
given by method:

ormula-04 Ve= _DL_ Ve = C9mmon Stock Value; D, = Expected l)uul 1
" K-g K =Discount Rate; ~ g=Constant G Growt

Example- 04 '

Mr. Emdadul Haque has purchased a common stock of Situ Shoe Company Ltd. The v "
pays dividend Tk. 36 per year. When the growth rate is 6% and discount rate is 12 W
value of the stock?

e
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/ D, Ve =Valy
o = Volue of Comm
l "—'"K " K = Discount Rate =(;nz°§',md< =0 727

38.16 8 "= Constant Growth Ry

' “12-.06 g' = EDXPecled Dividend = 0% = 0,06
_38.16 1= Do(14g) = 36(1+.06)= 36x1,06 = 38,14
.06
= 636 Tk.

p e Value of the Common Stock = 636 Tk.

U ero-Growth Model: :

qhe simplest method to dividend valuation, the zero-growth model, assumes a constant. ron-

oWing dividend ste:am. Zcrp-growth model is similar to perpetual bond or preferred stock
luation method. W“h_ zero-growth in dividends, the. value of common stock would equal the
present value of perpetuity of dividends discounted at given discount rate, symbolically:

Eormula-Oi Ve= Dy -+ D, + PR |
(1+K) (1+K)® (1+K" Where:
LR » Dk ' Ve = Common Stock Value
s Ve=— D =Dividend Amount
| K : K = Discount Rate

Examﬁle- 05]

Mr. Emran Hossain has purchascd a common stock of Sonya Electronic Ltd. The corhpany pays
TK. 25 as a dividend per year without growth rate, if the discount rate is 10%, what is the value
of the stock?

D =Dividend Amount =25

: D
olution| Ve = —- K = Discount Rate = 10% = .10
. ' Ve =Value of Common Stock =?
_3s |
10
=250 Tk.

Answer: Value of the Common Stock = 250 Tk.
08.07 Preferred Stock Valuation

Preferred stock, like bond usually pay fixed rate of dividend. Incase of no state maturity, their
valuation is similar to perpetual bond.
Value Calculation of Preferred Stock is two types:

1. Maturity/ Redeemable Preferred Stock
2. Valuation of Perpetual Preferred Stock

Finance-38
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ferred Stock Valuation:
h maturity period. The holders of the stock get divig,,

(1) Maturity/ Redeemable Pre
imilar to maturity/ redecmable bond can be ueq ("

Preferred stock may be issued wit
fixed rate like bond. A formula s

preferred stock with a maturity period: | Vp = Preferred Stock v
1- 1 y i D = Dividend Amaoyp
: (1+K) ' K = Discount Rate
vp=D K + (l +K)N N = Maturity Years
) FV = Face Value/Par Valye
| [Example- 04 - .
Amax Group has issued preferred stock for 10 years. The face value of the stock is Tk, 1000
the rate of 15% dividend. If the required rate is 10%, what is the present value of the stocky '
i FV = Face Value = 1,000
Fl oo D = Dividend Amount
o [ (1+K)" FV = 1,000 x 0.15 =150
| _E_olutlonl Vp=D T K + (l.+K)N K =Discount Rate  =0.10
J : N = Maturity Years =10
I _ | Vp= Preferred Stock Value =?

g 1 \
I=110° | 1,000
= 150 : it

.10 (1.10)

L =
_ 150x.6145 - 1,000

10 2.5937
=921.75 + 385.55
=1,307 Tk.

Answer: Value of the Preferred Stock = 1,307 Tk.

(2) Perpetual Preferred Stock Valuation:
urity period and given the fixed nature of its payments of (i

Preferred stock has no stated mat
interest is similar to a perpetual bond. We use the same general approach applied to valuing!
perpetual bond to the valuation of preferred stock: '
| ' D D D Where:
Formula-07 Vp=——lo+ —Io+ N e aferred Stock Valt
' 1+K)'  (1+K)? % | Vp = Preferred Stock Vi
| (D xS . KR D = Dividend Amount
o Vp= == K = Discount Rate
K :

Example- 07
[ce v

Virs. Maria has purchased a perpetual preferred stock from Mona Electronio Ltd, The 1 =
f the stock is Tk. 2,000 at the rate of 12% dividend. If the expected rate return is O, what 1+

ralue of the stock?
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Vp= Do D =Dividend Amount = 2,000%.12 = 240
K : K = Discount Rate =0.09
240 2133 1 Vp =Prferred Stock Value =1
= 2,667 Tk.

Agswﬂ" Value of the Preferred Stock = 2,667 Tk.

18.08 Bond or Debenture Valuation

he value of a bond 1s.the present value of the payments its issuer is contractually obligated to

nake from the current tupc until it matures. According to L. J. Gitman-
A bond holder receives two cash flows from a bond if it is held to maturity-interest and the
pond’s face value. For valuation purposes, the interest is an annuity and the face value is a
single payment received at a specified future date. |

The value of 2 bond depends on the following terms:

(s) Coupon Rate/ Interest Rate: The coupon rate is the specified interest rate. The interest is
payable to the bondholder on face / par value of the bond. - :

(b) Par Value/ Face Value: Par value is the value on the face of the bond. It represents the
amount the entity borrows and promises to repay at the time of maturity.

(¢) Maturity Period/ Duration: The maturity period refers to the number of years after which
the par value is payable to the bondholder.

(d) Required Return/ Discount Rate: The required rate of return that a bondholder who buys
the bond expects to receive in the future. An investor would buy the bond only if the coupon

rate were equal to or greater than discount rate.

Value Calculation of Bond is four types:
1. Maturity/ Redeemable/ Coupon Bond -
2. Valuation of Zero-Coupon Bond’
3. Valuation of Perpetual Bond, and
4. Calculation of Yield to Maturity (YTM).

(1) Maturity/ Redeemable/ Coupon Bond Valuationﬁ

If a bond has a finite maturity, then we must consider not only the interest stream but also the
n of bond. The valuation equation for such a

“terminal or maturity value (face value) in the valuatio
bond that pays interest at the end of each year is:
- Vd = Valuation of Bond

1 :
| 1- N | R = Interest Amount
vd=R (1+ K)‘ i FV T ., | K =Discount Rate
| K (1+ K) N = Maturity Yeuors
FV = Face Value/Par Value

Example- 08 ‘
a bond, face value of which is Tk. 1000 at 10% coupon rate of

Honey Beverage Ltd.-has issued L wi
what is present value of the bond?

Wterest for 10 years. If the discount rate is 10%,
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FV = Face Value of Bond )
1 | R = Interest Amount = l.fX)(y,_m ‘ iy

(1 v FV = Di = 10% i
Va=g[_1+K)" 1. o K = Discount Rate = 10% e

= ~ K (1 N'=‘Duralion of Bond <lny,"
‘ ‘ vd .—_-'(Va'lualion o[ Bond i
" , - |
T g 1000
= 100 (1+.10) + .
10 (1+10)
b ]
_] s g
190 1000
= 100| 1O 1, T
.10 (1.10)

_[100x 61457 1000
10 2.5937

=614.50 +385-50
=1,000 Tk. .
Answer: Value of the Bond = 1,000 Tk.

(2) Zero-Coupon Bond Valuation: ,

~ A Zzero-coupon bond makes no periodic interest payments but instead is sold at a deep ¢«c:
from its face value. The valuation equation for a zero-coupon bond is a truncated version of &
used for a normal interest paying bond. The present value of interest payments comporen:

lopped off and we are left with value being determined solely by the present value of prncy
payment at maturity. - g

. Vd-_; l_ | FV =Face Value/Par Valué; K = Discount Rate

(k)™ | N =Maturity Years; Vd = Valuation of Bon!

xample- 09

Shifha Cenent Mills Ltd. is issuing Tk. 1000 zero

i : ‘ ~coupon bond for 10 years. If expected el
rate.is 12%, what is the present value of the bond?

FV Where:
Vd= ——— '
(1+ K)” FV=Face Value = 1000
N K = Disg:oqnl Rate =012
-1 T N =Maturity Years = 10
( . Vd = Valuation of Bond =?
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1000 - . -

= (l . 12)10
1000

3-1058
=322 Tk.

” wer value of the Bond =322 Tk,

y) Perp etual Bond Valuation:

wal bond is the bond with no maturity. The present value of a perpetual bond is simply the

t divided by th i
fodic interest paymen ¥ the appropriate disc i i
- o forter The value e ount rate per period. The duration period

R. R
Tl Vd=——L | 2 Ry Where:
@ : (1+K)' (@a+ K)? 1 * N Va= Valuation of Bond
(1+K)
R R = Interest Amount
s Vd= —K— : ‘ K = Discount Rate

Examﬁle- 10|

Mr. Rajib has purchased a perpetual bond from a pharmaceutical company. He will get Tk. 1,500
15an interest per year forever If discount rate is 10%, what is the present value of the bond?

‘ R _ R =Interest Amount = 1,500
Eolulionl Vd = E K =Discount Rate =0.10
: Vd=Valuationof Bond =7

1500
10
- = 15,000 Tk. Answer: Value of the Bond = 15,000 Tk.

(4) Calculation of Yield to Maturity (YTM) or Bond Yield:

The yield to maturity (YTM) is the compound annual average rate of return that WIlI be earned if
1bond is purchased today and held to maturity. It is also the discount rate that equates the bond's
market value with the present value of the future interest payments and redemption of par value.
Thus, in solving for the YTM, we know the current market price of thc bonds. The following
¢xample shows conceptually what is involved.

I+[(RV-NSV)+N] |I  =Interest Amount
M.- YTM = NSV:= Net Sales Value

+2
(RV + NSV) RV =Redeemable Value
' N =Number of Years
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